H £ 0l & AF & S

Al A

0248 =0iId 2| 220IISSE3H &X
FA F2US
B HASE MBOIE K@
Cel: oZ20(AR2UII2SE ) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Fe=X 378,875 402,673 N23,798
= 52,185
== 20,311
[Ea 306,379
NasSs dgotd X2 376,875 400,673 AN23,798
= 52,185
< 20,311
= 304,379
ARSH(AZSHIISSESA) 376,875 400,673 N23,798
= 52,185
== 20,311
o 304,379
SSHNXHHMELAET(HASE A= 2H) 7,265 5,925 1,340
< 7,265
201 er2 3| 3,420 1,680 1,740
=S 3,420
01 At2t2lt] 3,000 1,200 1,800
02280 ANFES 7Y
250,0003 12043 3,000
= 3,000
2 s3=234l 420 480 260
O2deg0 28z N2 420
= 420
202 04| 3,840 3,840 0
< 3,840
01 2L AL 3,840 3,840 0
O2l250 Atdl&tel S bl
80,0002 x4 x 122 3,840
== 3,840
301 EtE N = 5 405 2400
=S 5
14 IIEt2 8= 5 405 A400
Ofga0 337 M BY= 5
= 5
ASSHAXHHBLEX(HSSHAIY) 46,979 57,127 A10,148
= 37,583
=S 9,3%
307 lztol & 46,979 57,127 A10,148
= 37,583
< 9.3%
01 2g & 2=yl 46,979 57,127 10,148
O L&+ X3 10,000
= 8,000
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FA F2US
B HASE MBOIE K@
ool R 201(2201I3SL ) (cre): xg)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 2,000
Oozosfgs 2d= 3,000
= 2,400
= 600
O=2R2g &a=s 3,000
= 2,400
== 600
Ol X 10,542
= 8,433
= 2,109
OMIt o =H K& 20,437
= 16,350
= 4,087
OSSO HHBAS T (HAMEIXIHIXI) 18,252 19,336 1,084
= 14,602
[ 3,650
307 gl2to| & 18,252 19,336 1,084
= 14,602
= 3,650
012z € /=4 18,252 19,336 1,084
OdZdg [l 18,252
= 14,602
= 3,650
220 (AlIZHIRES) 304,379 318,285 213,906
308 XXM SO0l 304,379 318,285 213,906
07 AX R FE= 304,379 318,285 A13,906
O22=0 AIZHIRE= 304,379
Heas(Fe=sxm) 2,000 2,000 0
RESSEIANEANE(ARSHIISSESAH) 2,000 2,000 0
ISESSEEIHENNE 2,000 2,000 0
801 GBI 2,000 2,000 0
01 Zetolblbl 2,000 2,000 0
ORg0ISs &=+= S 2,000
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